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(3) M ZFEAL . AEHT GRE il [ oAy =M. Mk (5L 1), 2B E®). &

Sample questions:

Policymakers must confront the dilemma that fossil fuels continue to be an
indispensable source of energy even though burning them produces atmospheric
accumulations of carbon dioxide that increase the likelihood of potentially
disastrous global climate change. Currently, technology that would capture carbon
dioxide emitted by power plants and sequester it harmlessly underground or undersea
instead of releasing it into the atmosphere might double the cost of generating
electricity. But because sequestration does not affect the cost of electricity
transmission and distribution, delivered prices will rise less, by no more than 50
percent. Research into better technologies for capturing carbon dioxide will
undoubtedly lead to lowered costss

Sample Multiple—choice Questions — Select One Answer Choice

1. The passage implies which of the following about the current cost of
generating electricity?

A. It is higher than it would be if better technologies for capturing carbon
dioxide were available.

B. It is somewhat less than the cost of electricity transmission and
distribution.

C. It constitutes at most half of the delivered price of electricity.

D. It is dwelt on by policymakers to the exclusion of other costs associated
with electricity delivery.

E. It is not fully recovered by the prices charged directly to electricity

ARSC B AR T T M st A



=]

S) #as

e NEWoRIENTAL HFERFTEFT MY www.xdf.cn

consumers.

Answer: C

2. The passage suggests that extensive use of sequestration would, over time,
have which of the following consequences?

A. The burning of fossil fuels would eventually cease to produce atmospheric
accumulations of carbon dioxide,

B. The proportion of the delivered price of electricity due to generation would
rise and then decline.

C. Power plants would consume progressively lower quantities of fossil fuels,

Answer: B

3. Select the sentence that explains why an outcome of sequestration that might
have been expected would not occur,

Answer:

“But because sequestration does not affect the cost of electricity
transmission and distribution, delivered prices will rise less, by no more than 50
percent. ”

2. W=

(DBEEEASE 1-5 fJih. Wf 1=-34 2.

(2) A28 3 DS, BEERIN AR, 35 AN R AL T

(3) AL dE, WA KR,

Sample questions:

Directions: For each blank select one entry from the corresponding column of
choices. Fill all blanks in the way that best completes the text.

1. It is refreshing to read a book about our planet by an author who does not
allow facts to be (1) by politics: well aware of the political disputes
about the effects of human activities on climate and biodiversity, this author does
not permit them to (2) his comprehensive description of what we know about
our biosphere. He emphasizes the enormous gaps in our knowledge, the sparseness of
our observations, and the (3) , calling attention to the many aspects of
planetary evolution that must be better understood before we can accurately diagnose

the condition of our planet,

Answer choices for question 1.

Blank (1) Blank (2) Blank (3)

overshadowe enhance Plausibility of our
d hypotheses

invalidated obscure Certainty of our

ARSC B AR T T M st A



T . o ®
1] Sy
e NEWoRIENTAL FHRITE T MBS www.xdf.cn
entitlement
illuminated undersco Superficiality of our
re theories
HEIANZR 1

Answer: overshadowed, obscure, and superficiality of our theories

2. The author’s (1) style renders a fascinating subject, the role
played by luck in everyday life, extraordinarily (2) .

Answer choices for

question 2.

Blank (1) Blank (2)

soporifi pedantic
c

lucid tedious

colloqui opaque
al

IR 2

Answer: soporific and tedious

3. From the outset, the concept of freedom of the seas from the proprietary
claims of nations was challenged by a contrary notion — that of the of the

oceans for reasons of national security and profit.

Answer choices for

question 3.

promotion

exploration

surveying

conservation

appropriation

I 3
Answer: appropriation
3. FREIEA
(1) BRE 6 ANIEIT . BERDLIE 2 4
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(2) IEFEIHS S HR ARG PRI RSB

Sample questions:

Directions: Select the two answer choices that, when used to complete the
sentence, fit the meaning of the sentence as a whole and produce completed sentences
that are alike in meaning,

1. Although it does contain some pioneering ideas, one would hardly
characterize the work as o

A. orthodox
B. eccentric
C. original
D. trifling
E. conventional
F. innovative

Answer: C and F

e

Ly BAEFB R SE I L i, IENBEAY, S B E AL AN A AR g
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Sample questions:

Zik 1

li) 7 1

1. The figure above shows a circle with center C and radius 6. What is the sum
of the areas of the two shaded regions?

7.5m

61T

4. 51

4t

31

Answer: D

i) L 2
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2. The figure above shows the graph of a function f, defined by f(x)=|2x|+4

for all numbers x. For which of the following functions g defined for all numbers
x does the graph of g intersect the graph of f ?
g (x)=x-2
g (x)=x+3
g (x)=2x-2
g (x)=2x+3
g (x)=3x-2
Answer: E
ESUER
1. Each employee of a certain company is in either Department X or Department
Y, and there are more than twice as many employees in Department X as in Department
Y. The average (arithmetic mean) salary is $25, 000 for the employees in Department
X and is $35,000 for the employees in Department Y. Which of the following amounts
could be the average salary for all of the employees in the company?
Indicate all such amounts,
$26, 000
$28, 000
$29, 000
$30, 000
$31, 000
$32, 000
$34, 000
Answer: A and B
2. If £, g, and h are positive integers, f is a factor of g, and g is a factor
of h, which of the following statements must be true?
Indicate all such statements,
f is a factor of g2
f is a factor of gh.
f is a factor of h-g
Answer: A, B, and C
AR

1.
A RE 1

Answer: 101

2. Auniversity admitted 100 students who transferred from other institutions.

Of these students, 34 transferred from two—year community colleges, 25 transferred
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from private four—year institutions, and the rest transferred from public four-year

institutions. If two different students are to be selected at random from the 100
students, what is the probability that both students selected will be students who
transferred from two—year community colleges?

Give your answer as a fraction.

AR 2

ENA)Y:

A. Quantity A is greaters,

B. Quantity B is greater,

C. The two quantities are equal.

D. The relationship cannot be determined from the information given,

A symbol that appears more than once in a question has the same meaning
throughout the question.

1.

EPNANG]
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